
SERENITY
VANITY COLLECTION

24”

INSTALLATION
INSTRUCTIONS

MODEL# SE24



2

2
Pieces

Part

K

2
Pieces

Part

A

2
Pieces

Part

B

2
Pieces

Part

C

NO. Draw QTY NO. Draw QTY

1
Pieces

Part

E Length=139mm(5 1/2”)

1
Pieces

Part

D Length=115mm(4 1/2”)

4
Pieces

Part

F Handle screws(M4*18mm)

4
Pieces

Part

G Screws(M4*12mm)

8
Pieces

Part

H Screws(M6*18mm)

8
Pieces

Part

I Screws(M6*8mm)

4
Pieces

Part

J
Bracket(40X20X20mm)

Drill
Soft Cloth
or Blanket Drill Bit

Tape
Measure

Silicone/
Caulk Gun Hammer

Pencil/Marker
Philips 

ScrewdriverKnife

Silicone Safety Glass Level



MODEL# SE24

3

4 3/4”
(120)

2 9/16”
(65)

24”
(610)

4 1/2”
(115)

5 1/2”
(139)

8 9/16”
(217)

4 15/16”
(125)

14 1/8”
(358)

33 3/4”
(858)

18 7/8”
(480)

13/16”
(20)

18 5/16”
(465)

4 ”
(101)

12 11/16”
(323)

17 1/16”
(434)

8 7/16”
(215)

4 1/16”
(103)



STEP #1

WALL

FLOOR

4

A

Center Line

1010

31 7/16”
(798)

18 3/8”
(467)



5

STEP #2

STEP #3

M6*8mmJ

K

K

J

I

I

M6*18mm

14.5”

H

H

Put the cabinet above 14.5” from the floor



6

STEP #4

STEP #5

M4*12mm

G

Wooden sh
elf

G

M4*18mm

D
D

E

E

F

F



7

STEP #6

STEP #7

B

C

C
B



DONE

33 3/4”
(858)


